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Chapter 1



話

話







Chapter 2







Chapter 3

話

もうこれ以上その話は 聞かせないでください。

3時間議論したが、我 は々話がまとまらなかった。

話



話

coll(I, E) I

E

話

話

犯人が 捕まったという話は滅多に聞かない。



S1: story (n), talk (n), conversation (n)
E1: もうこれ以上その話 は 聞かせな

いでください。
(Please let me not hear of that story 
anymore.)

S2: discussions (n), argument (n)
E2: 3時間議論したが、我々は話がま

とまらなかった。
 (After three hours of discussion we 
got nowhere.)

Overall Similarity

sim(I,E1)=1.0

sim(I,E2)=0.0

犯人が

 捕まったという

話は

滅多に 

聞かない。

Input Sentence (I) EDICT Entry of Noun 話

sim(I, E1) = 1.0

話

(E) (I)

sim(I, E)

coll(I, E)

syn(I, E)

sim(I, E) = coll(I, E)+syn(I, E)

coll(I, E) syn(I, E)

coll(I, E)

I E

w−1 w1



w−3 w−2 w−1

w−2 w−1 w1

w−1 w1 w2

w1 w2 w3

coll(I, E)

coll(I, E) =

⎧⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎩

1

0.75

0.5

0

syn(I, E) I E

が は

が は



syn(I, E) r

r = w1 − rel − w2

rel =

⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

casemarker w1

(w2) =

w1 w2 rel

w1 w2

r1 r2

r1 : 捕ま − − 話
r2 : 話 −は− 聞か

捕ま
話 話

聞か w2 r2

syn(I, E)

syn(I, E) =
∑

(ri,re)∈RI×RE

sr(ri, re)

sr(ri, re) =

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

sw(ri(w1), re(w1))
ri(w2) = re(w2) = t

ri(rel) = re(rel)

sw(ri(w2), re(w2))
ri(w1) = re(w1) = t

ri(rel) = re(rel)

0

sw(wi, wj) =

⎧⎪⎨
⎪⎩
1 wi = wj

x
8



(Rarely hear a story that the culprit got caught.)
        #1                                #2                        #3                        #4                         #5

犯人 が 捕まった という 話  は 滅多に 聞か ない。
(culprit)(NOM)     (got caught) (that)      (story) (TOP)        (rarely)             (hear)  (not).

I1

syn(I, E) sr(ri, re)

ri re

rel t

sw(wi, wj)

wi wj

wi wj

x

sw(wi, wj) < 1

syn(I, E)



t

聞か 話
滅多に 聞か

もう 聞か
syn(I1, E1) syn(I, E)

coll(I, E)

 I: 犯人が 捕まったという 話は 滅多に 聞かない。 E1: もう これ以上 その 話 は 聞かせないで ください。

 r1 捕ま -adnominal- 話
           (catch)            (story)

 r2 話      -は- 聞か
           (story)     (TOP)         (hear)

Input Sentence Example Sentence
                  (Rarely hear a story that the culprit got caught.)                                           (Please let me not hear of that story anymore.)

 r1 その -adnominal- 話
            (that)            (story)

 r2 話      -は- 聞か
           (story)     (TOP)         (hear)

 r3 滅多に -adnominal- 聞か
            (rarely)            (story)

 

r2       ....

 r3        もう     -adnominal- 聞か
        (anymore)            (hear)

 r4 これ　 -adverbial-　 聞か
(that)            (hear)

 r5 聞か  -adverbial-    ください
            (hear)            (please)

Target Word Common Word

}}RTW

RCW



話 r1 r2

話

聞か

r3 r4 r5

s



=
1 + ( + )/( − )

2

= 1− ((1− p(f1))× (1− p(f2))× ...× (1− p(fn)))
1
n

= 1− (p(f1)× p(f2)× ...× p(fn))
1
n

p(fi)

p(fi) =
b(fi)

b(fi) + g(fi)
i ∈ {1, 2, . . . , n}

b(fi) g(fi) P (fi|s) P (fi|s̄)
b(fi) g(fi)

b(fi) =
fi

g(fi) =
fi



sim(I, E)



Input Sentence

犯人 が 捕まっ た という 話は 滅多 に 聞か ない。

offender, 
criminal

thoughtless, 
reckless, seldom, 
careless 

hear, listen ask, enquire, 
query

Set A

捕まっ

が た
聞か

score

score =
|A ∩ B|
|A|



|A∩B|



Chapter 4



te te

te

守る S2

te

S2

Example TW=守る S2 [to keep (i.e. a promise), to abide (by the rules)] 

中国は約束を守るはずだ。

China can be expected to keep its promise.

守る S2

te

Example TW=守る  S1 [to keep (i.e. a promise), to abide (by the rules)]

中国は約束を守るはずだ。

China can be expected to keep its promise.



te

作る S1

S2

te

Example TW= 作る  S1 [to prepare, to brew] & S2 [to prepare, to make out]

だが、翌日は素晴らしい食事を作るようになる。

Children who can hardly cook soon learn to prepare wonderful meals.
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中

人

入る

出す

出る

前

地方

得る

情報

持つ

日

時

時間

自分

言う

認める

開く

使う

話す

聞く

高い

話

作る

地方

言葉

目

気

記録

調べ

手

間

取る

家

娘

娘

迎える

置く

立つ

起きる

相手

切る

帰る

頭

合わせる

占める

守る

力

体

乗る

上

Dd De

Dd De



Td

Te
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S1 中

S1

机の中 S1

自由の中

人

S1 S2

S1

S2
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Dd

De

De

Dd De Dd



syn(I, E)

coll(I, E)

0.90 0.3 0.6
Threshold

67 68
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P (RTW)
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A (RTW + ROB)

55
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45

33

66
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65

59
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40

65

R (RCW)
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中

人

入る

出す

出る

前

地方

得る

0 0.2 0.4 0.6 0.8 1

RTW
RCW
ROB
Naive Bayes
Maximum Entropy
Decision Tree
SVM

F-Measure



情報

持つ

日

時

時間

自分

言う

認める

開く

0 0.2 0.4 0.6 0.8 1

RTW
RCW
ROB
Naive Bayes
Maximum Entropy
Decision Tree
SVM

F-Measure



中 出す 出る 情報

中 人
地方 持つ 時間 自分 認める







中



中

人

入る

出す

出る

前

地方

得る

情報

持つ

日

時

時間

自分

言う

認める

開く



ŝ =
s∈S

P (s)
n∏

i=1

P (fi|s)

P (s)

話

'話' ' ' '話' ' ' '話' ' '

P (s) s

P (s) =
s

P (s)

s P (s)

P (fi|s)



fi

P (s)





1400 20 40 60 80 100 120
Frequency

309
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10083
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43
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Avg. Eg Sents
Avg. E

g Sents (
E+)



1400 20 40 60 80 100 120
Frequency

7.967.36

6.11
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Avg. Sense
7.32 7.17
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